SUMMER CAMP INSTRUCTOR LIST:

Chief Guest Instructor:

Sensei Don Sharp, JKA 7th Dan

1996 World Cup Champion, World Championship WKF Silver medalist 1997, 11 times National Champion, 3 times Canadian Martial arts Athlete of the year. JKA A level Instructor, A level Judge, B level examiner.

Guest Instructors:

Sensei Mark Deschatelets, JKA 6th Dan Sensei Michael Doherty, JKA 6th Dan Sensei Sal Sharp, JKA 5th Dan Sensei Harry Sidhu, JKA 4th Dan Sensei Brock Smith, JKA 3rd Dan

Host Instructor:

Sensei Paul Atkin, JKA 4th Dan

SUMMER CAMP REGISTRATION INFO

Early Bird Special Registration: (By Friday, July 7th, 2023)

- 1. Kids $(4\sim12\text{yrs old})$ / 10^{th} - 6^{th} kyu: \$175.00 full camp or \$40.00 per class. (5 classes, value of \$200.00!!)
- 2. Kids (4~12yrs old) / 5th-4th kyu: \$210.00 full camp or \$40.00 per class. (6 classes, value of \$240.00!!)
- 3. Kids $(4\sim12\text{yrs old})$ / 3^{rd} - 1^{st} kyu: \$280.00 full camp or \$45.00 per class. (7 classes, value of \$315.00!!)
- 4. Youth/Adults (13yrs old+) / 10th-4th kyu: \$240.00 full camp or \$45.00 per class. (6 classes, value of \$270.00!!)
- 5. Youth/Adults (13yrs old+) / 3^{rd} kyu and above: \$360.00 full camp or \$50.00 per class. (8 classes, value of \$400.00!!)

Regular Registration (From Saturday, July 8th -Thursday, July 13th, 2023)

- 1. Kids $(4\sim12yrs \text{ old}) / 10^{th}-6^{th} \text{ kyu}$: \$225.00 full camp or \$45.00 per class.
- 2. Kids (4 \sim 12yrs old) / 5th-4th kyu: \$270.00 full camp or \$45.00 per class.
- 3. Kids $(4\sim12 \text{yrs old})$ / 3^{rd} 1^{st} kyu: \$350.00 full camp or \$50.00 per class.
- 4. Youth/Adult (13yrs old+) / 10^{th} - 4^{th} kyu: \$300.00 full camp or \$50.00 per class.
- 5. Youth/Adult (13yrs old+) / 3rd kyu and above: \$440.00 full camp or \$55.00 per class.

Payment Information:

- Cash or cheque payable to Kelowna Karate and Fitness Inc.
 Cheque mailing address (No cash please): #10-1925 Kirschner Rd., Kelowna, BC V1Y 4N7
- E-transfer available by sending to kelownashotokan@gmail.com with your full name & dojo name in the detail.

*Please make sure to send email right after to let us know the full registration detail - your full name, dojo name, rank, age, which classes (or full camp) you are attending.

Individual registrations are totally accepted.

*All Payment in for Early Bird Special by Friday, July 7th, 2023.

Any payments made after this date will pay the regular registration fee amount*

No registration is accepted after Thursday, July 13th, 2023

LOCATIONS

A.) DOJO

#10-1925 Kirschner Rd. Kelowna

B.) GYMNASIUM

Immaculata Regional High school 1493 K.L.O. Road, Kelowna

C.) CITY PARK/BEACH

1600 Abbott St. (North Field)

D.) SUMMER CAMP PARTY

Sensei Paul Atkin's house 1321 Ponderosa Rd. West Kelowna 5:30-8:00pm (BYOB, potluck style)

CITY PARK NORTH FIELD MAP



Beach class information: City Park/1600 Abbott St. (North field) Friday, July 14th/10:00am-12:45pm & Sunday, July 16th/1:00-2:00pm Make sure to be there early for parking. Expect to get your dogi (uniform) wet!!!

<DAN/KYU GRADINGS>

Dan Grading: Up to JKA Sandan gradings are available, **Qualifications:** D level only (Instructor, Judge, and Examiner)

- -Follow JKA-BC protocol for grading preparation.
- -Grading is scheduled for Saturday, July $15^{th}/12:30-2:15pm$ at Immaculata Regional High School gymnasium.



JAPAN KARATE ASSOCIATION OF BRITISH COLUMBIA 2023 SUMMER CAMP SCHEDULE

FRIDAY, July 14th

CLASS.1

10:00-11:15am KIDS All belt levels

Sensei Don Sharp/Sensei Mark Deschatelets/Sensei Paul Atkin City Park (North Field)

CLASS.2

11:30am-12:45pm ALL AGE Brown/Black belts

Sensei Don Sharp/Sensei Mark Deschatelets/Sensei Paul Atkin City Park (North field)

Bonus Dan Candidate/Instructor Course members

3:00-4:15pm Sensei Don Sharp Dojo

CLASS.3

4:30-5:45pm KIDS White to Green Sensei Paul Atkin Dojo 1st floor 4:30-5:45pm KIDS Blue to Brown Sensei Sal Sharp Dojo 2nd floor

CLASS.4

6:00-7:15pm YOUTH/ADULTS White to Brown Sensei Paul Atkin Dojo 1st floor 6:00-7:30pm YOUTH/ADULTS Black belt/Dan Candidates Sensei Don Sharp Dojo 2nd floor

SATURDAY, July 15th

CLASS.1

9:00-10:15am ALL MEMBERS!!

Sensei Don Sharp/Sensei Mark Deschatelets Gymnasium

CLASS.2

10:20-11:40am

Gymnasium

KIDS White to Green Sensei Harry Sidhu YOUTH/ADULTS White to Green Sensei Brock Smith ALL AGE Blue to Purple Sensei Paul Atkin

ALL AGE Brown belts Sensei Sal Sharp ALL AGE Black belts Sensei Mike Doherty

KYU/DAN GRADINGS
12:30-2:15pm
Gymnasium

CLASS.3

2:30-3:45pm YOUTH/ADULTS White to Purple Sensei Mark Deschatelets Gymnasium 2:30-3:45pm KIDS Blue to Brown belts Sensei Don Sharp/Sensei Brock Smith Gymnasium 2:30-3:45pm YOUTH/ADULTS Brown/Black belts Sensei Sal Sharp Gymnasium

PARTY AND GRADING RESULTS 5:30-8:00pm

SUNDAY, July 16th

CLASS.1

9:45-11:00am YOUTH/ADULTS White to Purple Sensei Harry Sidhu Dojo 1st floor 9:45-11:00am YOUTH/ADULTS Brown/Blackbelts Instructors Course Sensei Don Sharp Dojo 2nd Floor

CLASS. 2

11:15am-12:15pm YOUTH/ADULTS Brown/Black belt

Sensei Mike Doherty/Sensei Mark Deschatelets Dojo 1st Floor & 2nd Floor

BEACH CLASS

1:00-2:00pm ALL MEMBERS!!

Sensei Don Sharp City Park Beach (North field)